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52. The point of interscction of the lihe

joining  the  polnts (<3, 4 -8 and
(5, -6, 4) with the X¥-plane is

&.1m, The nres.of the path he enclonos in ) [_; _B -ufl
faj L8g squarm matron

Ih) VER squmne metTes i E- g, . g, l:i:]
f) 13t square THtres

{d) Bn square motres fe) Lr%, % u}

B0. Tho distance of the pamt (1, 3) fram tha H
Iln#:x+:y-h.mmmipuiﬂﬂmm¢ el ln!l 3" ﬂ:]
line 4x + y=4, ia '

5 N
|'|'.'II. —_ﬂi unlts
Vi &3, If the :angle betwenn the lines whose
2 directiom  ratios  are (2, -1, 2} and
fivi BT unit 1% 3 5) e :—. then the smaller vl
of x Is
fo W17 unlis
- () 52
e |
fo) 2
81 Il the vettors @+ )+ % [48/ vk and 1
[+ )J=ok (o, b, g # |} are coplanur, thet I
the wlue af
Y (P 1 B4. The position of the point {1, 2] mlative 1o

len 1-b 1=¢ ihe ellipse 2x2 + Ty* =20

la equinl fa) outside the elljpas

f) O {b) innide the eliipee but not #i the
1 locus

B fty en the ellipse

Kd) - abe fdi a1 the focue
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B8, u% R T, S op-Em B owwess Bm A

5 R W sinode wd B oS s )
uEmee B WA 2o e s o
TR =i BT

e Y+ Ex e G=0
fb) y-<Ex+5=0
f&) wBx=5«0
o} y=~Bx—5=0

56, 3@ Tai Wl =0, A g 2, 5 o

ol 0x -3y Y« 0FW Txidy+2=0
¥ vfirsdn-fg O g el 87

fa) 2ix+465- 180 =0
bl 2ix~dbys 06 =0
Il Abx+21y-155=0
fd] qEx-2ly-20= 0

57, 0 igE = e v b, s e S

T 51, a0 ay Hwtm.ma

ot W tEm 4 i Y
(R
o
@ e G

ARU-S-LET/RIA

BR. TR gn W Wi wo R, S famEh (1, o

(0, &) ¥ 13, 4) 8 Fw e A

fal 4x? vay? v 1425 0 4T+ 190 0
B 4x7 44”1920 -4y 138~ 0
fl 4x" 4" - 142 =47y 128 w0

(d) 4x® +457 « 150k 4954 138 = 0

9. o= ul s il FBow =g (b, 4 71 e

g ¥ af s W 4, aER oW
wiz W) s QABC T e fiy,
o il eies 3, W b

60, T wEn W owim s b, W@ aeEE

x4+ frzel, Qn sy iz 7 Hosiimie
W W YR TEEm R s e
x =G+ 3z= 5 WA B

o xedy+3e-Hi=10
b} xsqp=de+GuD
f) Ix+Ap+Gm-B=0
feld J:tﬁ!r-rﬁ:*r!-nﬂ




55, The equation of a strmight lne which culs

ofl nn ttercept of 5 urdits on negulive
directien of gaxia and’ makea an anghe

58, The equation of the olrele which passes

throizgh the points (1. 0), [0, -6] and
@A) i

129 with tive dirgction of »-axis s
R (et} 4 x> +#y’+14_1:+41'y+l+[l7|:|
fg prv3x+5=0
A gyt~ 142 -aTy e [38=10
M y-3x+5-0 ) x4y~ -1 u
) pedix-5=0 joi ax¥aay® - 1805 « 4Ty 138=10

i y-+3x-5=0 i) #x -4y 4 150x -49y+ 1280

56. The equation of the line pussing through
thie point (2, 3 und the péint of
mternection of lines 2x -3+ 7= 0 and
Tx=dy+2=01n

E9. A verable plane passes through = fixed
point {a b, @ and cuts the axes in A, B
nnd 0 respectively, The ldous of the
contre af the aphiore QARS, O belng the

faj 21x+4dy- 180=0 erigin, i
— E ] £+ Eif- 1
M 2x-46y+96=0 B et
(e 46x421y-155-0 i E+:‘.'-1E..t
idi 46z -21y-20=0 x y =
o E4l4S w2
B7. The equation of e ellipne whise contta x y =
im Al orgin, major S v along caxin _
with ccointricily - and laiys  reoTom i EideZ e
o B e
4 anite s
fal : .*Ezl 60. Ths eoguation of the plane passing
L0246 thmugh the line of intersecticn  of
the planes ¥+ y+z=1 2x+ Iy+4a=7,
" 39a? j_ ! -snd  perpendieular  tw the  plene

1024 x—by+dz=05is giVers by
fa) x4+ Az-~6G=0

txd  agyd
e ﬁ-ﬁ—l iy x4dysdzet=10
3 H_u fo) Jesdp+Be—~8=0
T T Yo fd) x4yt SzsH=0
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61, 57y - 5 5 sl e b 64. B w feEn i |

9 :
ia) ":"'H‘hh y=0 ). ¥+x?, w= 0%

1 = 1
i I*-I.I'h-li. y>B 5 Itﬂnﬂ;,::ﬂ‘mmt

fich ..H.'t.’:hh s a. r"mnza—ll'.r:nm#ﬁnt
W] x=5ony w>0 “ﬁﬂﬂm'ﬂwﬂfT
62, 1w e T Bufie b - fetp W=e | T 2
" I -
s Je s *°F W -Fmadm3
R e} Tewm vt s
. v —
E?ﬁ%w fffis § 8 9w i
g flm, x=09 7 B Fg ze0m
SN 8 65, Pttt w5t i e -
b sy, x='0 W UL S T T | g
sy Y t ﬁ%ﬂaﬂﬁama,mﬁqqm_
T Fid x = 0% SR e W g & E
T A A 2. uft off Bl R wm oW i b
MJ Fi'f]'qﬂeh-i-uttﬂm#%rrﬁ"rmﬂ
eosE) d il
- gt titgt 3. o st 7 ¢ ot e P
e :@mmmﬁmmmmi
fal == y° tanx FaTo W W
A= yinjeosa) . .
A # A w8 e w R
) i tanx '
1=yl (eosx] fey W1 s
fy =i fby W 2
I = yln |ninx)
fey F=R1
fell p’uln:
1= pinfsin fed) 1, 2 ¥R 3
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61. The inverse of the function y=S"7 & 64. Connjder the following :

f) == u:rlm y=0 1. =+57 is contimaous ot ¥ =0
L 4
L opu— 18 antiriuous at x= 0
i .ﬁ-_yhﬁ. y> o 1 x Emi_‘ dintontir
| .
) x= Hﬂz‘ yed & L m; fa contlyious ot x = 0

TR BRI Which of the above are cormect?

62, A luncoimi is defined as follows fa) 1 and 2 anty

pa—  — ﬂ
fael 3t @) 2 s0d'3 anty

il e ey 1 amd 3oanly

Which gie of the fallowiog s correct in

respect of the above function? ' 12 a3
i u t % =0 but not

@ %%ﬁﬂmzﬁu:: ﬂ; " 68. Connidor the foflowing statoments :
B} Fixi i contindous #s well % % Wl ' poinit o the curs givei

ifferentablo Al x=0

il iy siope of the wngent st that peint

el fla} ts discontimuows ut ¥ =0

- 2. T mn denotea acocleration of &
il  MNone af the above partiolz,  then jﬂﬂdr—e pves

'I;I"I.'.llﬂ:“,'! of the particie.

. S L, \ -

63 I H'.-ll'.’ﬂl_,dh-ﬂ'l R thanm d—di ia 3 Ir m:l Fl'l'ﬂ d’-m‘mnlli ﬂf a
egjual o partcle-at time r, then %3!“"“ It=
fa) y,.inqx tiserleration Wi that Histent.

T

wiikiae Which of the above stntements ig/ese

!'hl . Hzmn: et ?

1k 0l (e x)

fa) 1 .and 2 anly

. o tanx
S ATy by 3 anly
il o ainx o ¥iemiy

I+ ginising () 1.2 und 3
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66. wft 1= aoc”! (!_'j].}.m =4 a 9. W f(a) = xlx— Nk o 1) F w0 9 i

& x=1 X+ A ¥ Sy =6 87
.#ﬂmtmt? ) ety st e, el S R g
i 1 il
i iy v sl v, wei g R
- it
1e) x|
X fef T W T SRR AR 6
R ) ¥ W EWE S
x-]
70, fElEie waed R i
67. [tan ! {see x+ tan ) dx Td oo B Lo flv W wEEe, T Ty s
— w3 af) m s by
) otk 2 i Wi swEE, B R oo giigem
!"I wiftrm oA gem N
i 'FEE'IT" 3. fiy W s, e e s
(Ffilim &5 &) @ wwm ¥
. i . .
ey EE e qe g & § WA w8
oo B el R | o 2
i o4 ) iﬁ’aﬂ?-ﬂl‘ﬂ
i . [
68, (0, =) % T e 1w v P d B 1. 3383
1-x% |, Dex<sl Wfm
fix) = inx . lex<3 WM in
InE—1+0 5k, 2<xc= & I TL =S S w7
A R s Bl e 3o B d s
e S :
fal Fx=2x, 0<x< 1% fFm oo
@) [ = -2x, 0<xs 1y g
fel  fll=—2x 0<x< 13 u e
el =0 0<x <= fAg 1
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=
L]
Y

k.
'y

=
Iz

=
i

&7, Whal
to?

(23 jum"’ (ame = tan x)tle ogual

fa) ==+ —ie
i)

R ==

fell E-ﬁ-—lf

&8, A funection s defined in (0, =) by
1-x3 for D<xs|
Tln] = In x for lex=2
[m:-—m:u Sk lor exew=

Whith gne of the foliowing is cormct m
meepeat of the demvatve of the funstion,
he J (P

f flal=4x for Dcx <1
M ) =-2xdor e x|
ft sl = =22 for Decx<]
fll ixi=0 0<x<m™
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69. Which one of the Rillowing in cormedt
in reapect pf the Tunction

k= xix - [ix « [P

gy The ool maxumum vaiue s larger
than docil minimum value

fb) The locs] mosieuam  valie e
amalier than Joonl minimum value

o) The femetion has  ne loeal
insad et

) The lunction has no logal minimum

70, Consider the followang statemenis -
1,  Derivatbee al f(x) may not exist at
woine faaint.
2.  DPeorrvative of fis) may cxist finitely
at stne polnt

3. Dervatve of Fix) may be nfinin
(geomnetrically) ot somie pobnt

Which of the above
carrenty

slntemerithl  are

fap 1 oand 2 only
b)) 2 and 3 only
i) 1 and 3 only
(el 3. 9 eoad 3

T1. The maximum vilue of 1% ™
la e
)

mlex &

il

ELoU |

| 2.7




T2 W S x| -x* R
fa) Tirm
of
foy = i Fa S
0 9 @, 2T fem

73. 5=
= _‘!. 'I'rlln J;J

_ E,ﬂﬂlli-hl_'lml
i »

iy -!:d“‘l:m.trh'
LR BC R R R ER SR T
fal =iy fis) %.ﬂji'!j

fol | [lyde =ty ) Ty=1

dy_ox=h
74 - TR T IR B UW T W A e

# R w1,
) ga=b=0
) a=-b=0
) deliz=0 hak
frf]l a=b=0

Tﬂ.'ﬂﬁ"m Hh‘: = '3 Thn ml#mt.'ﬂ‘l

L t—l-lll- x

ﬁﬂiﬂﬂ?{-mﬂt?

fal (=Lm=1 b f=§.m--

1) i=§,muﬁ fdl I=1, m=m-
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76. ]:' 1o min % ebe s w7

ta) 8
fiy 4
le) 2

fei 0O

TT. S5 x|+ |y| = 1@ S S famn 80

fel. 1=y
B 242wl g
fop 2w
T SEE LR

76, G x e Tenfee e B o e & e

ST f:i i §7

fal 10, )




72, The function fix=|x |- 2" ls

(i) odd

i) evem

fe)  both even and odd
il melther even nor o

3. If
d . sswe
Ij = —ja%h "
1 dxi'!
m‘LF.HJ* WLEl E
ly = I & s

Ji=dl h
ty = f&"" % conxdk

then which one of the fliowng =
correat?

fa) 4 =1y (] %H:lﬁn

o) Jgde=iy ) ly=1Is

74. The general solubion of

gy, mxxik
de  Ipek
reprepenis a circke only when

] a=b=0
it a=-bwd
) a=b=0 A=k
fd) a=beD

78, i W EOX g nd tim S2E w m, then

t—l-i X E=yw X

whicly ane af the foliwing is eorrect?

jol d= L =1 | [l l-%,n-r:—

fi !-i_—.m—-ﬂ el =1 om=-
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76. What in j;"'\h . -m-g dx oqual to7

fat B
oy 4
&
fd) 0
T7. The area bounded by ithe curee
x|+ Iyl=11m
fa) 1 mjanre unit
(B 242 mquare dnits
fo) 2 spuare anie

fel) 248 smuare units

<
78. 17 x is &oy rosl humber, then "-*
lox
belongn to which dne af the Tullowing
miereals?

T
o (o]
@ 0.2
i) 1o,

| #1770



79. [flej=|x|nimpx] T r=k
A own b, ol kv ogein B oS gy
wen s wed R7

fa) =0 -
Y Tl
ied =1 kn

T s

8. S siwi=X-1 % @ sun o, o 3
Fanfifes 0 9 - w4

faf tam LFa), 7R 1) TR e e b
FUTELE =
Fixy

) can]fixil, ¥ (] e P R R,
iR W T

far tanlf il e ) AER g S R,

aht L v 8
fixl o

) ran(fla), 7| | R e R,
s ¥, Ty rﬁmt
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B1. W= iy
(| -2
W wife w87
fal 332
fop 2 afm 2
i 23m3
) 133

Ba. Hﬁy=m:"l: 2% ]!‘ﬁ.fh&hm

L+x2
nr
g P
s x9
- “E.mﬂm:-ﬂiﬁ'ﬂ

o —2 i (]t T

I!I:I.

) = & & i

83, = A frgdl W wgEe, oW owen
;;.1-»’?-'?5 swere B, - B
o) {0, =)
[t [, =)
ol v, O 0, -
(e} (1, =




79, The left-hand. devvative of 81. 'The arder and degres of the differontin

@] - (2]

nre reapoctively

Fix| = | &) oint fref ut = =k

whare k& jo an integer and [x] s the
preateat integer funotion, o

s
fal nkE - e () 3 and 2
(I T S b 2 and 2
faf 2 and 3
e 1" den _
() 1 and 3

S

: ) [ 1_’5...] s S8 4 eirial
82. If y=con L3l Ehdﬁ:“m

RO, If _.I'M:r::. -1, then an the interml [0, =) iy - - - lkf<
2 - ”
witiel one ol the following s correct? I+x
=
fa)  &mn <)), where || i the grestest i - ond for all |x]= ]
intepedr firnotion, and —— are both
& Jl=
ceitiniiou {8 —2— fak all |x)<1
1+ 27

fid tanlfisd] where [] s the greatest _
integer functiom, snd 'l aw (i Nope of the ahove

hoth conttmuous
B3, The set of &1l poimts, where the Tunetio

fof  tan (fix)), where || ia Lo gredtast fhi"lllll _E—_'I.J = differentisble, s

mtegeor function; and _f_':;i nre hath
ey Dy =)

T (-, =)

dinconiinuoun
el tam|fix]). where || s the greastest

.Em#rl functlon, is discentinuais ied e ) (D ]
trt ﬁ 9 eaniinuniy ) (-1, =)
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g4 -1 W apen & e gpideR i s o6, v & § W=7 T -X xa
=Fm - an ST wen B
v
‘[‘h-l_ -1 »
() ( s¥Fism W) el
A, slnxsoosx l. <10 faj < - =
B. 3ainx i 9coax 2.
€. 2sinx+conx 3 -5 ﬁ
. minx e« lconx 4. JE o
F: mj o+ 0 1 3
el A B © D &
2 A 1 4
".
W A B € D o
- 3 " 1 {
fel < ﬁ| * %
f A B ' W
3 3 i 4
M A B € D (e} Il A A )
A 2 4 1
1 _n
g7. TR iy s n.-q..[I. iuuﬂ]h il [x),
BY, Wit Sl xfx == M AN W putefie e w)) @R s A ow ww B
'?jﬂ,rwmqsrmﬁ'r
frl x = 0 F WG @, Wy Faeeena a8 nel
b = 0w wewrha d (' -361
iy 250
fo == O w0 TR
)
fel) v AR Sl o
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B4, Mutch Listi] with List-Il and sclect the
torrect anuwer dmng the oode given

bl the Hats
List=l Linr=AT
fFunction) (Mexrmum
vealrea]
A mink +eoEX 1. S0
B 3sinx+dcosz L 2
C. Feinx s oonx 3 5
Bh sink e« 3ooax 4, WS
Cade ;
fa) A H c I
4 3 1 4
iy A L] c o
o a ] 1

=
>
&y
-

=W

#5. I fix) = x e — ST then [ i

o centinuous bat not differentinble nt
x=1f

4l diffsrentiable at *=0
e mat continuous ar x =0

il None of the above
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86, Whith ane af the following jgrapk
represents the famnetion ) - E—‘ x & ¥

o
F ]
1
- » i
i) |
i
iy
+]
L) = G > ¥
el
™"
B
fl%
fol > &

uI il
fd) Mone of the sbtove

87, Let 0 .={ % *ﬁ-l' dhere || detiol

the integial part of x. Then the val
FLEE]]

of 3 fin) in
=l

) 25]1

fb) 250

a1

fdl 0

Ry



BS. I[lnﬂ“]:h' : J‘u:ix,r“dk T w1

fa) zilnag™tse
b wnxg™ +e

e} xflnxse

(] xilnm* 1o

89, wip ) s E gt il SR i e

i =wa W T SEEEEE am w S

i & ol am R gt sfemns w5 Y, @
oo o, W@ dEd oWk | A
S0 B = 3 AT O e R

|
(b
fa)

fd}. 4

a
4

umi.“_g-.mm w1 =9
A &7

T
™ 3

4
w3

M —=

ADUS-LHT/E1A

o1, == Hifag g umw i e B s o A

WEE ) = (giel)? - gl e anin ¥
fer) ) et g

i) ool 1w w i

fe) 0 T st ok

PR B s

92, WA = Alain [x 4 ) 4 conlx + ] L

e s A it o Fowe (Tl @
I T i Y e e wE- b

fa) " [sin &+ ooe Xy’ =1
bl = (nin e+ conx)y”
e ¥ =LY -sinxconx

fdy W+ y=0

o3, Frefifem w o fa i .

L LEN I
x>ain e, 0 20
=WA I :
FiXi s x=ninx T8 R we b, owf
::-ﬂ'ﬁ#ﬂﬂ'
sedn ol & dal A Bremin & & e
i #7 '

) w1 i owrm o fEt owd B
W 1w e e 1R

fb), w1 S owwR o oEE W R, o
W 11, W | el o

fe) ey g B, f e 00 e B
fey st pomm W T w11l B



BB, [(lna)ate—[(lnx) “ex is equal o
el wiin et ve
B xinx™ o
(@ e
(el wfins® «e
BO. A eylindeival (e without s lid hay to be
' constivucied using a given surisce aresa
ol a met=) sheet | the copacity of the
jur is 1o e maximum, then the dismeter

b the jar musl be K (imes’ the halght ol
thy jar- The vilue of k is

faj 1
w2
) 3
felj 4

B0, The walue of
_ﬁw‘t&nx el ﬂﬂ'ﬂtl‘ x
in equal 1o

fri)

Bl

()

LR

W
et :%r
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91. Lat g be ihe grostest integer fundtiol

Thien the function Fix] = (gx)? = gix
e digcontinuoEE-at

fa)  all integers

M) all inlegers except O and 1
(e} all m'l::yrl exzejit O

() ail integers except 1

92, The differential equation af minimin

arder by eliininating the arbitra
constants A and © {n the exuati
g =Alunic=sClrconje+ 0] in

fel g jnin £+ con )y -1
(o) i = fsinx+consly
(el g™ = g1 b dinx conx
o) g™ =10

93. Conader the lollowing statementn :
Stuterment 1 :

¥ =>uin g for il ¥=0

Swntemeni 1 :

fl)=x—=sinx i :an increaslr
function for all = >0

Which onec ol the following & carvect |
reapoct of the shove astatronening

fa) Bath Statement | and Statement
arn’ true and Siatement I s
carrect cxplonation of Stomaont
M) Both Statement | and Statement

are trie and Stalemmoent 11 s noe
earrect explanation of Statement

fo) - Siatemant I in troe but Statement
in flse

fel) Srat=ment | is false byt Staterment
' in true

| BT



94, M e 97, FIHE

dy _p¥i-u* 1 02
o W A=(2 1 ®©
03 1
w1 F W
- X W MEEEE W e 7
o) P
-1 6 3
m u:ﬁ_ﬂ.n.n M _ﬁ 1 _4
65 3 1
il :;.r—!'fi"‘li-ﬂr‘f—iE
i T1 6 -2
i u . ar (2 ¥
e
o5, wR fln~25220 sy g 122) 4,
T Rt (3=) L
ﬁ!_l'-ﬂth:I!TWH‘Fmimtr o(4 =1 :.t]
i a8 O =1
i 3
L | & # i
: | & -2 1
. a | -6
5
- oo, aa~( T, ol b B F 8 e A
1-a a-a? a? -
1-f p- pﬁ p: L
'I_
T 1=%" ¥ s e

T WE TR )

o= P = e =) M) A% - kA
) - B = )iy - o)

ol foe I =t -l = Be )
L fd) A% =44

fe} A? =-3A
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94, The aolution of the differentinl eguation 97. The adjoint af the matrix

dy _ wiin-y 102
de o) A=|d 1T B
i g3
x
I‘H.i' y-“ﬂ"'f inm
ﬂu,y-!gl-n (-1 & @
fea) = 1 =4
- HXte a3 1
el === I
£y H*'gﬂ 1 & ~3
(=3 1 4
4x-x G- 1

4 . 1 ’
o8, 11 fin =350 un EH=IH[I—~].

‘]' & 1 '3
1 W e =1 2
a

+x

- X
then what is the value of f +g [:_;
equal o7

& -1
o 2
L -6 2 1
o} O fdl 4 =2 1
: 3 1 =8
(i 2
86. The walve of the detprminant -z 2
. . S8, 1 A= ], then which one of the
i<a a-a? o T -a)

1-p ﬂ—a? p? following Is correct?
1=y y=y* y?

fa) A% =-24
i efeal W
feu e = DI~ rhe =i b} A% =44
!I'#J h-ﬂ]m--ﬂh -u), b A% =—3a
feh e = IR iy -l ey
@ 0 el A* =3 A
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99, Rele? —ij=0 wd =77 & U Re 102, 5@ i ol @ e s b

T s §, =i oW # oW e B erE & 509 ) s, e el
w42 W R e O ET N e w5 S
' =werl W, o e Ewm Wl # gifhey) em
@l 1 44
o) i .
fe TR i S
ey T 2
fl 3
LD, ﬂp*—q-r—r =g+ b+ c= 08, 7 Wi
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99, Geumetrjoully  Hefe? <i) =2 where

i=+<1 and Ro in the real par,
reprENenls

fal elrale

flb) . ellipss

fe}  roctangalar hyperbol
() parabols

100, § prgrreavbsc=0 hen ‘he

detorminant

pa gh re
ge ra phb
rh po gqa

exjialy
faj O
() 1

fe) | pin i + v

() parghiresnsbie

10L A commities af two perfsione is seleited

from two men and two women, The
protmbility that the committes will have
oxacily bne womuan in

il

ad | 25

ih)

Il

kel =

e
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202, Lei m e bie jouded i wuch o waoy thai

evenl facan are twiee likely to oecur an
the odd Theas, Whaot Is the probablity
thut n prime number will show up whan
thy die is toased?

1
M =
f 3

2
(bl %

L =1

103. Let the sample apace consiat of o

regatbe integors g to 50, X denote tha
numbears which are multples of 3 and
¥ dennote the add numbers. Which al the
following iu/are correct?

.
bR
2 Py

2

Belect the corroct answar using the code
prven bojow.
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fa) 2 only

() Bolh 1 and 2

fedf Nelther | nor 2
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3, uea fiwem = sppm o, WW PiAl= 3, MB)=5 it F_l..-inm-ﬁi!
i % w8 w1 fiem A LA s a7
Tt wEl B e wh feif ;'
jap W ] Az N %
) HEW 2 Hn 3
1
. @ A
fe) WWE ] ¥R 3
&
M 1,293 T

ADUS-LET/81A 38



104. Por bwn svents A and 2 et Hﬂf:i 106. Qiven thut the arithmelle mess and
R standard. deviationi of & nample  of

MAE == and PARH)=—, Whar is 15 obssrvabionn are 24 and O
s 4 " 6 conpoctivnly, Then which ene of the
i4 71 B) el 10 following s the srithmete mean of the
l nraliest five ohaervations i the dats?
5 fad 0
fuy &
b ) 16
fdy 24
M‘ 1
1 107, Which one ol the following can be

considersd as uppropriate pair of vilies,
of rogresmon coellicient of y on x and

el % - meprmewian coetlicient of x on §?
fa) 41, )
o) =4
106. Conpider the fallowing statements ; \
Fu-lr (_Eli E‘J
I, Cosfficient of wanation dependa on
‘the unit of measurement of the |r'; 10
Vatiablé, & [ =5

2. Hange {s a measure of dispersio,

_ 1
T et N s 108, Let A and B be two events with Pld) = 3

megsured about median, 1 I a
FiH) s wmd, B e, What i
Which of ihe above statcments sin P{8|A) equal to?
(a) =
fee) 1 wnd 2 anly 1
i) 2
% 2 wnd 3 only I
- fel 3
fe} 1 and A enmly
1
i) 1.2 end 3 @ =
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343
10
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b}
fel

(i}
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112, o Bo oo k% X-10, F=00, ap =2
Gy =12 W o =08 % Y= X+
wsR SRR W
[} ¥ =3-2X+58
() X=3.2¢-58
o} X=-8+0-27
i) ¥==840.2X

us W A=  PANBATIAL
Ftﬁnﬂnﬁ}-%_ 8, 7 plE~C) T

=T #7

A 3
ME r&,'_*
=N i
LT L

114, Trtieian W § 9 wiww o s =m i

mE
= (FH)

m wiram A wftam B
=) 3,500 2,700
Wyl 00 B0
T 1,500 | 1,000
faran 2,000 1,800
Fiifeqms 2,500 1,800

aoden affed) A givs ar) & fn, fr A R
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b 1019
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109, 1 i binomiil dlstrbitlsn, tie mams la = 112, 1 is given that X=10, ¥ =90, 0y =3,
3 oy # 12 and e o« 008 The pegresulon

and the variance is : What is the equation of X n ¥ is
probubiliity (hat X =27 & ¥=3-2X+58
% Ml X =327 +58
() 36 )
o) X =-BeDaY
a5
I w Y =—840.2X
e 25 3 1
% 1 113. i P =3 PIANBAT)= S5 o
) %% Pﬁnﬂﬂﬁ:%, then what is PEA T
mqual to? '
110. The probabiliiy that a ship safely renches l' 1 ) 1
n pait bs :i The probnbility thint aut of % 12 4
5 whipn. mt leaut 4 ships wonld arrive M W X
mafely 15 9
1
ot o5 114, The ‘Blicwing table gives fhe monthiy
" 14 expencliture of towo f=miles
.] jer b
243 Bxpinditure (in #)
fe 54555 Bems Fumily A | Family B
i Fornd A,500 2,700
fel) Eﬂ_la.i Ciothing 500 ant
Rert 1,500 1,000
111. What s the protabifly tat sl less: two Educution 2,00 1,800
permit out of w Wroap of thres peraous =
wery born i the datne month J:l]lnm:ﬂ.ld Miscellanooue <500 1,800
v rt? In conmtructing a pik dingran to the
33 nhove data, the mdii of the circles are to
M s e chosen by which ane of the fallowitg
17 ration?
w5
72 fal 111
I .
A in:0
L P i
» fid A0y %)
= |
5 flf 5 :4
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115, W[ o varinble talew viduss O, L3, 3, .. n 118. Connalder the fallowing statements
with frequenoics

b G 0, Sing 3, Cin, 3, 0, Cleen)
reapieetively, ther the srichmetic mgan

1. Vadance s unaffected by change of
ongin and changn of anaje.

™ 2. Eocffigient aof  warfance in
indepenidenit of the unmit of
fa). 2n abeeTeations
fl) ma1
P Whith of the stitements ghvén above
0/ e ooTTect?
L |
fal 1 only
116, [n 4 multipln-choite feal, an axnminoe ) 2 enly
aither known the cormmof anmwer with _
probability g, oar  poosses with fe) Woth ! and 2

probability |- p  The probabdlite af
aniwering o guestion correcily is ;"1,
il bt or she merely gussass 17 the
examinne answers a quastion corrently,

(e} Nelther | e 2

118. Five stieko of length 1, 3,5, 7ond O feet

the probability thal ke or abe really arn glven, Three af these aficiea are
lmows the aneweor in nelected Wt mandom; What s the
probabitity that the selected aticks can
faf, form a triangle?
I+ mp
05
s “
- B D4
fmi -~ N
LB P et O3
gy =g il N
1wy
137, I x; and x, iee positive quantition, then, 120 The  cosfficient of consiation when
the condition for the difforence between cosfficienty  of regressiun  wre 02
the writhmetle monn and the peametric and -8 s
sy . st W) 036
fa) Xy &y :-R,II'xl.:;
(b x| #yxg > 2 g A
fdl I -y 1242 fid - O
fes) 2y 43z <3 Jrxz v W, o9
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